Point-Slope Form Notes:

So far we have learned TWO different forms of linear functions:

y=mx+bis S’Iagz = I\\J(C(capjr form.
Ax +By=C s SMMA form.
Now we are going to learn the third POINT-SLOPE FORM:
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y-Y1=m(X-Xq)
What does x4 and y, stand for in the slope formula?
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Example 1: Write an equation in point-slope form given the following

slope and point: ”
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Example 2: Write an equation in point-slope form given the following
slope and point:

(X\)‘d() ‘j"j\—’ “\(,X’X\)

Slope = 2 and (-2,-3)
+42) = 2 (x=2))
3 = 2(xxL
Example 3: Transform equation from point-slope form into slope-

iliercept form; 3=2(x+2) B—
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Example 4: Write the point-slope form of a linear equation given

the t skng ‘:lts x“ ;) ;”\
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mple sform the last exa ’ into S =irtercept form:
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whe following line using the equation:

y-243[x+1) m=3
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